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QUESTION 1

What is a property of a good color model for ordinal data?

A. Uses a rainbow-like color map for distinction of categories

B. Uses a rainbow-like color map for ease of display and printing

C. Uses perceptually ordinal colors with just-noticeable increments
D. Uses perceptually ordinal colors with linear, perceptual increments

Correct Answer: D

QUESTION 2

What is a characteristic of spark?

A. Unable to run map -> reduce execution plans

B. Supports applications written in Python, Java, and Scala

C. Less efficient processing small files than Hadoop MapReduce
D. Supports workflows that can return to previous work steps

Correct Answer: B

QUESTION 3

What elements are needed to determine the time complexity of finding all the cliques of size k in social network
analysis?

A. Eigenvector centrality and betwenness

B. Clique size and total number of nodes in the network

C. Number of edges in the network and centrality measure of the cliques
D. Clique size and betweenness centrality

Correct Answer: B

QUESTION 4

You develop a Python script "logisticpy” to evaluate the logistic function denoted as f(y) for a given value y that includes
the following Pig code:

Register \V'logistic.py\\' using jython as udf;

E20-065 PDF Dumps | E20-065 VCE Dumps | E20-065 Exam Questions 2/3


https://www.geekcert.com/e20-065.html
https://www.geekcert.com/e20-065.html
https://www.geekcert.com/e20-065.html

GeekCert.com

z = FOREACH y GENERATE $0, udf.logistic ($0);

DUMP z;

What is the expected output when the Pig code is executed?
A.0

B. Jython is not a supported language

C. Value of f(y) for ally

D. Tuples (y, f(y))

Correct Answer: D

QUESTION 5

Which problem type is best suited for simulation?
A. One with a few. non-random input variables

B. One that has a closed-form solution

C. One with numerous, non-random Input-variables
D. One that compares "what-if scenarios

Correct Answer: D
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